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Conversions de 
longueurs

CM2

1 km = …. m 333 cm
= ….. dm

  56 cm
=.... mm

2 m + 5 dm + 
3 mm

= ….mm
7100 cm
= ….. dam

370 m
=.... dam

rejouer











13,09 hm
= …. dam

180 dm = 
….dam 47,8 m 

= … hm
990 dam
=.... hm

1097 m= 
...km...dam..
m

790,7cm 
=....m

12 km 
=.... m

67 hm + 6 
m = …. dm

4 km + 89 m 
= …... m



     

instit90





295 hm 
= ….. km

1,309 hm = 
….m

2400 m = 
…..km

901 mm = 
..dm + … mm

5305 dm 
= ...hm 
...dam...dm

2367 m
= ….. cm

1 m = 
  100

1dam = ….m

JEU DE L'OIE DES LONGUEURS

Titicole


